B/\>%

B-1/\>% B-IN

OHE

12.2kg (A ARz BR<)

150~165

XXX XX
XK XK
‘ BAE140x140

D/i2%E/N /%
D/ %

Rr=

OE=E

D-N

16.0kg (M AARZERR)

416

B-2/V>4% B-2N

0=

ABRFE

E/N>%

OHEE

11.5kg (i kiR7FR<)

OF &
1D\ RICHERLTERLE T,
2.B-1/\ 2SR DR EH T ieEk BT,
3.B-2/ VR EFRAIGDER R Y VAT,

ot %
1.B-1/3> 2| $HEK 1 7L (50A) ICEALE =S
LTVET,
2.B-2/v 2D\ 2 EFEICIEAGC2x 45 A DB E T,
3.B-2/\>ZDIZEEE T ST 1D T,
4KR U IZEER/LTVET,
XMHAAR (D) l&A4 T3> EREBIET,

RIS

E-N

21.8kg (AR ZRR<)

200
240

Q@iLiEImT
No | B8 & & | # & 5 =
[ORE:S K| FC200 | 42— LI RFVEilgaE
@ = FEAN7—>14 1t E
®|B # # 4%X19  t=2
@ | KGR LA #| SUS304 | EANT—54 1tk
® | +FREWMC M5X15
® | tFIFARL M5X 12
Fg @ | dLNyE> |yoa7Ly | —EmER =2
i E)VAVIEEEHE | SUS304 | t=2
8 ©® | 7A—RIVE | SS400 [ M10x40
,,,,, L 4 % M AR [H9aLy9h] t=40  300X300
e SR o @[Tl —L4] SEHC [t=16 (RVTH#IR)
[T i B ' [ @ [ABRAERL | SS400 | M10X65 4%
@ | M8X3514aL | SUS304 [M8F vk, 7y v—1t
I EIHERS0A FC B— VI RFVRilgRE
® |ELE  50A| CAC202 | Zwh)b-7OLo>E
iRy |y007L | 50A
@7 5 4| FC |20Ax4s

@D\ &
1.HEK50A, HHG20AD 2R AT,
2. SHN7KEEK - MK (EERK) DEEHhEITELE T,
3RTFIVDNRY L — b — LD EBIRE S,

@D/ \> ALk
12 RRICEAREEZREELCVEY,
2 KRB ZITERBLTVET,

OE/N\VRRE
1D RUICHRLTERLES,
2 IR IS DERE A FEEEKS0AL ER.

[ JASZZ Sk x ;-

THEK 1L (G0A) IEALEZRELTVET,
2T S5V LS T LIFEICEAG2X 45 DBV E T,
3R ZIFERFBLTVET,

M AMR (OOQ) (A T3V BREBVET,

Q@iLiEERmE

B o@m B (M E im =

\ 410310

340x240

20 300x200

x | FC200 | 2—IVIRFVEilsRE

510X310

440

400

20

= REANT—Z4 1tk

B #1 # 4X19  t=2

KGR L H# | SUS304 | ENT—Z1 4k

TFUmIML M5X 15

TFREFARL M5X12

53
IS
et 2atririairlrieiededededotonts

150~165

150~165

41.6

41.6

ABBIIE T

202349 H 1T NoB4REHADY NIV TEVET,

(619)

dL/N\yF> [yoa7Ly | —Kaf =2

TRV | SUS304 | t=2

TYA—HRIVE [ SS400 | M10X40

@ |9©|Q|@|®®e|EBF

XDIN/ XA ALY t=40 300X400

KENY R AIR t=40 300X500

% 7L —L| SEHC |t=16 (RVT k)

XVERMAIERL | SS400 | M10X65 47

M8X351E4al | SUS304 |M8F vk, Ty v—1ff

FHURH50A R,
mummgy| (O | FTVIAEVERERR

#EALE  50A

CAC202 | =y Ib-7BL&OE

EAE  20A

JHERNYE) 50A

20A

BI6|@|0|®|®|@|®|®|3

Y] s

7 Z FC 20AX 44

SO E— ARt

4

12-33



